D0000000000000000
Oooodmn

OO0o0oo ROOOO

1 0DDOOoOOo

1.1 00OO0O0O0Oo

a,beR, a<b00000000 {zxeR|a<z<b}0000000000 [a, b]0000
000000000000D0000000000000000000 {[an, bs)}(n=0,1,2,...)0000
000000000000

1. [ak, bk] D) [ak+1, bk+1] (k = 0,1,2,...)

2. kEI—iI-loo (bk — ak) =0

12 O0O0O0OO0

00000 {[an, by]}(n=0,1,2,...) 0000000000000 00000000000O
“+o0

CEﬂ[ak,bk]DDDDD cO00D0DD0DD0DD0OD0OD0D0D00o00dooooooogooooooooaon
k=0

cobooooobodobobooobOoboboooboooooobOboOooOooOoOobOobOOoboOobObOoOoOooOoOoonDag

goodooooooobobobbobboboobbbbotbodddodooooog o
—+oo

oo11000 2.DDDDDDDDDDDDDDDDDDDDDDDDDDDn[ak, byl 000000
k=0
ooboboooooboooooooooobobooobooooooooooooon

2 0O0Ooooo

21 000000

f:la, ) ~ROODODO0O000dO f(a)0 f()000000000003¢€Ea, b0 f(c)=dDO
0oo

22 000000000

000000000000000000
fl@)<d< f(b)DODO0O0DOO0f(a)>d> f(b)00000O0DOO0DO
00 [ag, bo] = [a, ) 000000000 k =0,1,2,...00000000 d<f

ay + by
2

ak+bk> 0o
2

ay + by
2

b
DDDDd>f<%;k

,m}DDDDDD

[aks1, brt1] = [ak, > 00 [agt1, brt1] = {



—+oo
000000000 {[an, ba)} (n=0,1,2,..)0000000000¢€ ([a, b)00000 ¢c0000

k=0
goooo

L f(ar) <d < f(br)

2. lim ar=c¢, lim by =c
k— o0 k—-4o00

00o0o0o0ooU0oO0ooUo0oOoUDU0oOoUDUoOO fOoODOOOO

fO)= Jim fla)<d< lim f ()=

000 f(¢)=d00D000D0



